

Re-appear GRADE SHEET of B.Pharma 2nd Semester Held in October 2020

Biotechnology and Management Sciences							
	Pharmaceutical Dispensing						
Sr No. Examination PHR-PT-113							
Kon No.	Credits -3						
	Grade Awarded	Earned Credit	Grade Point	Point Secured			
1/DHR51	C+	3	6.00	18.00			
	Evamination	Examination Roll No. Grade Awarded C+	Examination PHR-F Roll No. Cred Grade Awarded Earned Credit	Examination PHR-PT-113 Credits -3 Grade Awarded Earned Credit Grade Point C+			

F grade course to be repeated Date of Issue: 10-11-2020



Shoolini University Biotechnology and Management Sciences Re-appear GRADE SHEET of B.Pharma 2nd Semester Held in October 2020								
		Pharmaceutical Physical Chemistry						
G N	Examination		PC-122					
Sr No.	Roll No.	Credits -3						
			Grade Awarded	Earned Credit	Grade Point	Point Secured		
1	14PHB51	В	3	7.00	21.00			

F grade course to be repeated Date of Issue: 10-11-2020

Shoolini University Biotechnology and Management Sciences Re-appear GRADE SHEET of B.Pharma 6th Semester Held in October 2					October 2020		
	Examination Roll No.		Pharmaceutical Juris	prudence/DRA &IPR			
Sr No.		PHR-PT-363					
			Cred	lits -3			
		Grade Awarded	Earned Credit	Grade Point	Point Secured		
1	14PHB51	С	3	5.00	15.00		

F grade course to be repeated Date of Issue: 10-11-2020



Biotect	Shoolini Universit	y
Biotoo	interpretation of the state of	

Re-appear GRADE SHEET of B.Pharma 7th Semester Held in October 2020

Biotechnology	otechnology and Management Sciences								
		Medicinal Chemistry & Cheminformatics			Pharmaceutical Biotechnology				
Sr No.	Examination	PHR-PC-474				PHR-PT-475			
Sr No.	Roll No.	Credits -3			Credits -3				
		Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured
		D				С			
1	14PHB37	D	3	4.00	12.00	C	3	5.00	15.00
		D							
2	14PHB51		3	4.00	12.00		N	ſ.A	

F grade course to be repeated Date of Issue: 10-11-2020

\$ SI Biotechnolog	noolini niversity	Re-appear GRADE SHEET of B.Pharma 8th Semester Held in October 2020					
		Chemical Biology					
Sr No.	Examination Roll No.	PHR-PC-484					
		Credits -3					
		Grade Awarded	Earned Credit	Grade Point	Point Secured		
1	14PHB51	С	3	5.00	15.00		

